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A 9131178 is effective if there is land — pppn 5y o s

Overview

The &n>>2 states that a M?» may write a 912119 if the Mm% owns land, but not
if he owns only 2’72y (and no ¥p7p). This seemingly contradicts the view
that *»7 *¥ppna *72v.> Our MooN seemingly deals with this issue”.
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A ®12175 is not written unless the MY possesses something which cannot
be destroyed; such as vp1p (but not o>7av).*

mooIn anticipates a difficulty:
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And even though a 21179 is written for a perforated flower pot; which
can (easily) be destroyed;

mooIn responds that nevertheless -
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Since it is considered as ypap the 3139 made no distinction, between actual
ypp and an 2121 v°¥¥ which has all the 0°1°7 of ¥p7p concerning N1WY»1 NIMNMIN, etc.

Summary
A P1ano is written on something which cannot be destroyed (such as ¥pap

[and an 2171 y°x¥ which has all the 2°2°7 of ¥pp]).

Thinking it over

What is the difference between an 2371 y°Xv which (since it is ¥YpAp 2°wn) is
qw> for a 71ano and 2°72y (which are "»7 °vpn> and nevertheless) are not
aw> for a 212M1 (according to some opinions)?’

LA Samn s (usually a document or) a statement in which the m>n transfers his debts to a 7"2, (or in this
case on the ¥pp [see 71 1"7 >"w1]) which enables him to collect them even if a 7u°nw transpired during the
debt period.

? It is not clear whether 1" derives his proof that %7 *>u%u»3 *72y from the X5°0 of the X012 (which states
that 0>72v7 Qv PIP1 1K PHV2UN) exclusively, or his proof is also from the ruling concerning 21am1s.

? Alternately m901n may be explaining how 1" infers from this ruling that 2>72v7 % 91 12X 912179, that
0°7ay are 17 >2uo0n2. [According to this view if we maintain *n7 *¥pnd 72y, then a 212179 is 072w 9y o1
See QR 7"72 o0 MR 1" w17,

* The reason the effectiveness of a 7121179 is only if the M possesses ¥pap is either because it is considered
230 or it is a XM°2wT RN where the 1327 are inclined to make a 73pn. According to either reason, 072y are
not capable of supplying this qualification, since it is not 1233 for it is 111257 7woK and it is not 1°2w for the
same reason (people do not depend on it).

> See " MIX 7"o10.

TosfosInEnglish.com



